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1 7|Anekcangp CanbHuKoB Hyundai Solaris SEQ 40 S1600 0|1080( 1050 [-10| O |1040| 10 8 [-15]-5 11 |-15]-10({ 8 [-15|-710] 6 |-10|-70|DNQ [-15]-10 7 -15|-10
2 8| MBaH Yy6apos Lada Granta ES-S16 20 S1600 0{1070{1070 |30 | 30 |1130( 10 9 |-15]-5 2 101 5| 1 (15|20 4 0f(20f 1 |15(30 2 10130
3 | 11|{Jleonna MaHdounos Lada Granta ES-S16 20 S1600 0{1070({1070 |25 | 30 |1125| 10 3 5115 3 5120 4 | 0 |20| DNQ |-15| 5 2 |10|15 2 10 |25
4 | 17|Bnagumup YepeBaHb VW Polo SEQ 40 S1600 0 {1080(1060 |-10 | 10 |1060| 10 4 (0|70 4 0|70 6 [10( 0 3 5|5 7 |15|-10f 4 0 |-70
5 | 27|Angpen PagowHoB Peugeot 208R2 SEQ 40 R2B 30{1080| 1090 |20 | 20 |1130| 10 1 |15(25 7 15|10 3 [ 5 |15] 1 15130 3 5130 6 -10(20
6 | 38|Kupunn 3axapos VW Polo SEQ 40 R2B 30{1080] 1090 [-10| 10 {1090| 10 [DNS| O [70| DNS [0 [70|DN| O [10( DNS |0 (70| 8 [15/-5| DNQ [15]|-10
7 | 44| PycnaHn Hadmkos Ravon Nexia R3 SEQ 40 S1600 011080( 1080 |-10| 0 |1070| 10 7 |-15]-5 10 |-15]-10| 10 [-15{-710{ 7 |-15|-10] 9 |-15]-10 9 -15|-10
8 | 55|Métp MnoTHMKOB VW Polo SEQ 40 S1600 011080( 1060 [ 25| 10 |1095| 10 2 |10]20 5 5115 7 [-15( 0 2 |10(710( 4 0|70 1 15|25
9 | 66| Anekcen CaBuH Hyundai Solaris SEQ 40 S1600 0 (10801050 |10 | O |1060| 10 |DNQ[-15|-5 9 -15(-70| 11 |-15(-70| DNS | 0 [-70|DNQ |-15(-70] DNQ [-15|-10
10 | 73|/ PomaH Monukos Peugeot 208R2 SEQ 40 R2B 30|1080| 1090 | 5 |20 |{1115] 10 5 |-5[5 1 15120| 2 (10|30 5 |-5|125| 5 |-5]20| 10 |15|5
11| 83|Angpent CeBactbsiHoB | VW Polo SEQ 40 R2B 30|1080| 1090 (-10| 10 |{1090| 10 |[DNQ|[-15]|-5 6 |-10{-70| 5 |-5|-70f 8 |15(-10( 6 |-10|-70 5 -5 [-10
12 | 89| Aptem ®puamaH VW Polo SEQ 40 R2B 30{1080| 1090 [-10| 10 |1090| 10 6 [-10] 0 8 [-15]-10] 9 [-15(-70| DNQ |-15|-10| 10 |-15]-10 8 -15|-10




